SUBTRACTIOL:.
Lesson Tuirp. III.

A tobacco-smoker, having 5 pipes, has broken the
stems off of 3 of them. How many remain whole ?
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3 from 5 leaves how many ?

6 hens were eating corn, and a boy frightenéd 3 of
them away. How many of them remained ?

3 from 6 leaves how mamy>

There were 7 farmers, 3 of whom drank rum and
whisky, and became miserable; the rest drank water,
and were healthy and happy How many drank water ?

3 from 7 leaves how many?

8 bowls are on a table, and 3 of them are turned
bottom upward. How many are uoht side up?

3 from 8 leaves how many?

A silversmith has made 9 thimbles; now, ]f he
sell 8 of them, how many will he have left?
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3 from 9 leaves how many?
Recite the table beginning, Three from three leaves nothing.

8 from 3 leaves O 3 from 8 leaves 5
3 from 4 leaves 1 3 from 9 leaves 6
3 from 5 leaves 2 3 from 10 leaves 7
'8 from 6 leaves 3 || 3 from 11 leaves 8
3 from 7 leaves 4 3 from 12 leaves 9




